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= 187,000
308 XXX SO0 A 187,000 182,500 4,500
= 187,000
01 AXSHBAELS 187,000 182,500 4,500
OZars EEXH 187,000
= 187,000
Az 2 EIXA(HE) 24,000 20,000 4,000
2 12,000
< 12,000
201 L2l 16,200 13,000 3,200
= 8,100
< 8,100
01 At 22l 9,200 7,200 2,000
O e8| 9,200
—Zas AEFA X QIAAMZI 2EX2 9,200
= 4,600
< 4,600
03 A2 Z Hl 7,000 5,800 1,200
OLAsHAE =Dt 7,000
= 3,500
< 3,500
202 odl 4,800 4,000 800
= 2,400
< 2,400
01 = LH 4 1l 4,800 4,000 800
OZas Atg2el & MPEI XX 4,800
= 2,400
< 2,400
301 LEHZ 3,000 3,000 0
= 1,500
< 1,500
09 HALAHIX A S 3,000 3,000 0
OZdis 8EEIIWS EIIEH 3,000
= 1,500
< 1,500
YrsAYBel L I (XNH) 55,000 55,000 0
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308 AXIEHSO0IA 55,000 55,000 0
= 55,000
01 AXNSHHBANEES 55,000 55,000 0
OZas Atg2el & MPEI XX 55,000
= 55,000
HsHAdSHSNIA(HE) 39,000 43,020 24,020
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308 XXM SO A 87,500 112,500 A 25,000
= 87,500
01 HIXNHHBNEES 87,500 112,500 A 25,000
Otrsge(AsAE)NEESI2LS K 87,500
= 87,500
ARsdo(A=sHAE)SEZASUENE(XH) 144,000 165,000 A 21,000
= 144,000
308 MtXIEHHMSOIH 144,000 165,000 A21,000
= 144,000
01 AXHHBYEES 144,000 165,000 A21,000
Otlrsge(AsAHE)E8EASNE N3 144,000
= 144,000
ESUsUUATRAMS S (XH) 40,000 38,000 2,000
2 40,000
308 MtXIEHSOIH 40,000 38,000 2,000
= 40,000
01 HXNHHBHEES 40,000 38,000 2,000
OS=E=sge HI2YH 54 40,000
= 40,000
SIS EHA NS AN (NE) 54,000 56,000 A2,000
= 27,000
& 27,000
201 ¢4l 10,000 10,000 0
= 5,000
& 5,000
01 ArR2t2lHl 10,000 10,000 0
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—4-H3|& ¥ XNEZ WA | =ZH| 5,000
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O834-H T =22 WK 26,000
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= 9,600

308 XXM SO0l A 9,600 9,600 0
= 9,600

01 IXNHHBNEES 9,600 9,600 0
OsEXNEXN dHu=s 9,600
= 9,600

HUsgoZMAND(XR) 90,000 90,000 0
= 90,000

403 XSS X201 & 90,000 90,000 0
= 90,000

01 AXSHMA2E = 90,000 90,000 0
OFE s ¥ M A 90,000
= 90,000
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201 £B-2%H| 760 680 80
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01 At 22l 700 620 80
ogxtz 700
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M ox
40 5 4

sl 2 M
P sgsEJ=sNE

PMIIEESAgXR

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

01 HIXNHHNBHNEES 750,000 500,000 250,000
Ostte A 2 750,000
= 750,000

s gols NN (KE) 776,000 661,000 115,000
= 776,000

308 XXM SOIA 776,000 661,000 115,000
= 776,000

01 IXNHHMBANEES 776,000 661,000 115,000
O=s%= goils ZHbl 776,000
= 776,000

s&g golls A 2SI (HEY) 16,000 18,000 A 2,000
= 8,000
< 8,000

201 Let24d] 16,000 0 16,000
= 8,000
= 8,000

01 At 22l 16,000 0 16,000
ous & 82Xz 10,000
= 5,000
< 5,000
Odais dHIIE P2 6,000
= 3,000
< 3,000

s golls g 2 NI (XE) 92,000 92,000 0
= 92,000

308 XX EHH SOl A 92,000 92,000 0
= 92,000

01 AXHHILEES 92,000 92,000 0
OgolEs W&z A 24 92,000
= 92,000

s&E Yols 222 2SI (XE) 25,950 25,950 0
= 25,950

308 A EHHSOIA 25,950 25,950 0
= 25,950

01 HIXNHHNBMNEES 25,950 25,950 0
Ogdizs 22% 29 25,950
= 25,950

s AMUSXNAOI=ES,NH) 52,000 43,000 9,000
= 52,000

308 XXM SO A 52,000 43,000 9,000
= 52,000

01 IXNHHBNEES 52,000 43,000 9,000
O04dzsted s 1= 2,000
= 2,000
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- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OsgllHdEE2nN=R 50,000
= 50,000
nEE sAHIH NDIs23,XH) 85,500 139,500 A 54,000
= 85,500
403 XX SHHS K20 & 85,500 139,500 A 54,000
= 85,500
01 XIS A=2E X 85,500 139,500 A b4,000
oun=ss sg9JIAH XN 85,500
= 85,500
Nzt (D22, KR)(HEAY) 1,135,000 1,335,000 A 200,000
403 XX EHHS K 20| & 1,135,000 1,335,000 A 200,000
01 MXSHAHXNE2EE X 1,135,000 1,335,000 A 200,000
OXE&edEstas IR 1,135,000
NAESLLES B20Is22, M) (HEAIY) 150,000 300,000 A 150,000
403 XX SHHS K20 & 150,000 300,000 A 150,000
01 XIS A=2E X 150,000 300,000 A 150,000
OXEEs £+ B2 150,000
=22 ANg2dY 46,200 52,600 AN 6,400
201 LBt Y| 30,000 30,000 0
01 AP 22| d| 30,000 30,000 0
Ogbt4=24| 30,000
— LBrH AN ZH| 30,000
202 o4 H| 15,000 15,000 0
01 2Ll 15,000 15,000 0
OJ)l=s=2SANg2d &8 oH| 15,000
405 KHoaHFE S HI 1,200 7,600 N6,400
01 XA 2B F S| 1,200 7,600 6,400
OJdlsE2n d4&n 2¢ 1,200
=28 o33 29 ¥ g9 u=x 86,400 96,800 A 10,400
201 et d| 41,400 42,800 A 1,400
01 AR 22l ] 34,400 35,800 A 1,400
O us ¥ AR3 24 7,000
O 8Xd&Ns HAAI 15,400
O uxs ¥ s2X& 12,000
03 A2 E H| 7,000 7,000 0
O BSEdIg 2003 7,000
206 M = dl 5,000 14,000 29,000
01 X2 8| 5,000 14,000 A9,000
O sgolus & AR5 As5MHE 5,000
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AR =9Iz =N sYlER
Hu: sYsE)|ad
S MII=ESMEX (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| < 750
2t2elgas LdHE 2L (YY) 90,000 0 90,000
2 45,000
< 45,000
101 @14 dl 40,000 0 40,000
= 20,000
< 20,000
04 JIZHHZ22XREE S 40,000 0 40,000
Odoisg: xR 36,010
2 18,005
< 18,005
OgE=RES= 3,990
= 1,995
< 1,995
201 £B-2%H| 34,000 0 34,000
= 17,000
< 17,000
01 At 22/l 30,900 0 30,900
Ogdis WZE &g dE 8,900
2 4,450
< 4,450
Odgdis M 24| 22,000
= 11,000
< 11,000
02 =224l 3,100 0 3,100
OZExtg «ett 3,100
= 1,550
< 1,550
202 oddl 16,000 0 16,000
= 8,000
< 8,000
01 = LH o4 1l 16,000 0 16,000
Ogdis HEYHE 224 16,000
= 8,000
< 8,000
2ot/ YolEs gHEe 22 (XY) 135,000 0 135,000
= 135,000
308 MtXIEHMSOIH 135,000 0 135,000
= 135,000
01 HXNHHBHEELS 135,000 0 135,000
O=Jt2cldois M 294 135,000
= 135,000
SEXCIIBEY 52,000 0 52,000
s 26,000
= 26,000
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A -bEL SN sYllER
M sgd=sEJI=XE
et MIIZE AT 2 (B9 ®R)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
405 XHoHF S HI 52,000 0 52,000
s 26,000
< 26,000
01 XY 2 ZFH S| 52,000 0 52,000
Os&EXNEoetx s 52,000
—gols HE g ¢ 40,500
= 20,250
< 20,250
-Z2ZXEA 3,000
s 1,500
< 1,500
-FUHE 28 =3I 1,000
s 500
< 500
-S0HE c02 =& 1,500
s 750
< 750
-SUE Ity €53 6,000
= 3,000
< 3,000
sEMazds N 2,633,036 2,625,136 7,900
= 1,134,000
z 370,000
< 1,129,036
sdeIIsANYE(sEXNE  XH) 820,000 585,000 235,000
= 820,000
403 A X EH S =0l A 820,000 585,000 235,000
= 820,000
01 X SHHX2E= 820,000 585,000 235,000
OSH&TA 858 JIsXNA(1ER) 200,000
= 200,000
OSHMXA 58 JsXA(2ER) 350,000
= 350,000
Os& XIRXE &433 Al 50,000
= 50,000
OF=2Z HM=Jls ANY 30,000
= 30,000
O8YE A AMdidl 28 2AlL= W33t 30,000
= 30,000
OO0 28 &7 SZY JI=AE 70,000
= 70,000
OLZE HiolHelE HEIH3 Al 25,000
= 25,000
OAH ATHE 0|28 HXZH MEZAE 30,000
= 30,000
OXRsgsE AY 35,000
= 35,000
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A= sl 2M s8I d
Y sUsE)sXY
ool sEM4EEE A (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
SEIX LI =X 100,000 0 100,000
= 100,000
403 UHXSHHSA=0l& 100,000 0 100,000
= 100,000
01 X SHHMA=E L 100,000 0 100,000
O=&d&s ~ASs 249 2= 100,000
= 100,000
SHSSHN USRI XNIA(sENE , XE) 7,000 7,000 0
= 7,000
308 XXM SO0l A 7,000 7,000 0
= 7,000
01 HIXNHHBNEES 7,000 7,000 0
QUEXEH(sE0deld)gddn=s 7,000
= 7,000
ey ol ABIIE JIgns(sEXE NH) 32,000 40,000 A8,000
= 32,000
308 XtXIEHH SOl A 32,000 40,000 A 8,000
= 32,000
01 X HHILEES 32,000 40,000 A8,000
FelY JIBAS 2EIRZUS 12,500
= 12,500
OCtYE R EEWSR 19,500
= 19,500
IsY gEE oAl AFANYE(sENA XE) 175,000 225,000 A 50,000
= 175,000
403 MtXISHHE X201 & 175,000 225,000 A 50,000
= 175,000
01 XM A=2EE 175,000 225,000 250,000
A=Y sy otdae AFAY 175,000
= 175,000
SE 24 SXAAE A (HEAY) 275,000 275,000 0
403 A X EHHS =0l A 275,000 275,000 0
01 XXM 22 = 275,000 275,000 0
SE 24 SXNAE AEY 275,000
SO JIBALE AIEEH e (HEAE) 100,000 75,000 25,000
403 HXSHHSA=0l& 100,000 75,000 25,000
01 X SHMA=2LE L 100,000 75,000 25,000
O=gel JIBALZE AIEEH HE XA 100,000
SHES OHMAIL MY MESH(MEAIY) 195,000 180,000 15,000
403 X SHHSA=0l& 195,000 180,000 15,000
01 XM A2E X 195,000 180,000 15,000
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A= sl 2M s8I d
Y sUsE)sXY
ool sEM4EEE A (B9 ®R)
A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
O=sZ&as ™ALL oY M3 195,000
sS&SIBIl=2s 65,000 300,000 A 235,000
s 65,000
403 A X EHS =0l A 65,000 300,000 A 235,000
s 65,000
01 AXISHH A2 E= 65,000 300,000 A 235,000
OstEEEINSUH(AENL) 65,000
= 65,000
stt= JtsJls 2&38 A& 40,000 40,000 0
= 40,000
308 MHXIEHMSOIH 40,000 40,000 0
= 40,000
01 AXHHBAEES 40,000 40,000 0
OsdtE H3Jl=s 2&Es NE 40,000
= 40,000
dSAEs HsgsiE 25,000 50,000 A 25,000
= 25,000
308 XX EHSOIA 25,000 0 25,000
= 25,000
01 HIXNHHBMNEELS 25,000 0 25,000
OXSa2stHsgsSNH 25,000
= 25,000
580 AR FHIXNA(sEXNH XH) 100,000 125,000 A 25,000
= 100,000
403 A X EHS K= 0l A 100,000 125,000 A 25,000
= 100,000
01 AXISHH A2 = 100,000 125,000 A 25,000
Osgo 4Ane &HJI= AldY 100,000
= 100,000
sJHE JISHE OHHEIE KN (sEXEXH) 50,000 65,000 A 15,000
= 50,000
308 MXIEHMSOIH 50,000 65,000 A 15,000
= 50,000
01 HXHHBAEES 50,000 65,000 A 15,000
OsJtE JI34E 0AHE JIsXE 50,000
= 50,000
SENESEMEII =AY 90,000 0 90,000
= 90,000
403 A X HHSXH=0lA 90,000 0 90,000
= 90,000
01 AR SHHA =22 = 90,000 0 90,000
O S5 018 ¢3AE (=57, S2)HX 25,000
= 25,000
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CEB .S (3H) - NRAY - BES O 4t o8 il

11,295,706 11,232,478

Hl 10,963,306 10,903,318

8,880,736 8,609,645
== 6,624,336
- BRI (A ZH) 609,688
4= 8,111,810& x3Y x12& 292,026
- 532 6,617,950 x4 128 317,662
AR X2 (H2H) 2,067,218
o2 7,647,080& x16H x12& 1,468,240
Xl &2 7,130,690 x7H x12& 598,978
—-2utR (s M) 936,730
- 62 4,013,5903 =10 x12& 481,631
72 2,805,900& x12H x12& 404,050
- 82 2,436,8703 x1H x12& 29,243
- 92 1,817,090& x1H »12& 21,806
-3y 2,231,557
A 2 AL 3,262,510& x57H x12& 2,231,557
A& 779,143
Xl & AL 2,822,980 »23H x12& 779,143
OFSF=3=, 275,447
OFH+Y 488,728
-d2gotar2 84,720
25E 0] & 130,000& x22H x12& 34,320
204 0] & 110,000& *x8H x12& 10,560
- 15E 0 & 80,000& *15H x12& 14,400
104 0] & 60,000& x12H x12& 8,640
5 0] At 50,000& x28H x12& 16,800
-~ 75,567
2l gk & 3,900,000%4 . 1%*3H x12& 5,757
SN 3,927,000& x4 . 1%*x28H 128 54,099
- XEA 3,548,000& *4 . 1%*9H = 12& 15,711
-IEss4 111,120
- B XA 40,000 1024 128 48,960
S HMAE L IIEIES 20,0003 *99H x12& 23,760
B PE! 60,000 x40 = 12& 28,800
KOl = X+A 100,000& x8H x12& 9,600
- XAHEH = 15,008
mE=S=igmi 469,000 x8H x4 Z J| 15,008
-ROFdY 2,423,000& x60%*3H 128 52,337
-E22+E 33,000
23 50,000& x51H x12& 30,600




HedZd(sgllsd)
2129y (&2 &H)
2SN B () NEAY - BAS 0 AF o ﬁlf& HDS2
S 40,000 x5 x12& 2,400
-G 67,320
oA 80,000 x66H x12& 63,360
SEJ2 W 110,000 *3YG x12& 3,960
-Jlsdgx4 21,960
S SN =y 60,000& x6H x12& 4,320
A AL, Kl & Ab 50,000& x20H = 12& 12,000
52 50,000& *3G x12& 1,800
- 6~72 30,000& «10¥ x12& 3,600
8~92 20,000& 1 x12& 240
-J=dEB4LE(0H2) 11,640
- Jl= A 50,000& *1H x12& 600
- Jls &, JIA 30,000& x28H x12& 10,080
AR DA 20,000 *3H x12& 720
28, &4 (6~73) 10,0003 x2H «12& 240
—SALH(SEMNAIERIES)
38,000& x1H +x12& 456
- WRIOALSE 550,000& x1H = 12& 6,600
-HRUs < 200,000 x3H x12& 7,200
-QEHIIFIALGE 50,000 *3H x12& 1,800
Oz 714,654
OFHZ A 130,000& 1375 »12& 213,720
OY&E S| 3,947,432,000&! / 128 60%*23] 394,744
O A I 2 At Y| 169,107
-HEAH
2,502,091,000& /128 *78%*86%*1/30% 12! 55,947
-S =M
3,947,432,000& /128 #86%*1/30% 12! 113,160
02 JIEt& 2% 128,069 121,687 6,382
OLUBFADHI (& L H =) 65,074
-JE2 4,541,000& x1E x12& 54,492
-JiE4g 720
B < Xt 40,000& x1G +x12& 480
B PNIE 20,000& x1H x12& 240
- x2S 4,529
- dHZAH| 130,000& x1H x12& 1,560
- D2 AtH|
54,492,000 /128! 84%*86%/30L x 12 1,313
- AMNZE X 155,000 x 19 »12& 1,860
-olE sy 50,000 x1H x12& 600
OLBHAI M (Al 2-S A 62,995
-JE2 3,979,000& x1H x12& 47,748
-tEsY 1,680
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A -bEL SN sYllER
M. HM2AAH (sEIIsdH)
Sel: o2y (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 AF o ﬁlf& HDS2
- B XA 40,000& 1 x12& 480
Aol= XA 100,000& x1H x12& 1,200
- ZU22E 5,045
—dHZAY| 130,000& x1H x12& 1,560
- I AbY|
47,748,000 /128 x84%*86%/30L 12 1,150
=N 165,000& x1H x12& 1,980
-oEsy| 50,000& *1H x12& 600
-S43 192,000& x1H x12& 2,304
-gERE3 928
03 I HLZZAHE = 1,954,501 2,171,986 N 217,485
O B 1,821,529
-J23 2,195, 7323 x51H x12& 1,343,788
—HE&E 02 - 5 2E2aLY
11,995& x150%* 15Al 2tx51H 128 165,172
PN 11,995& *8A| 2t* 152 «51H 73,410
- HE S| 2,195,732 x60%*23| *51H 134,379
==l 130,000& x51H x12& 79,560
-tEx4 40,000 x28% x12& 13,440
-NEEHEX+S 468,000& *5H 43| 9,360
- I =2H| 150,000& *x2H 300
-2 AEYI 20,000& *53H *x23| 2,120
ogaggz2 132,972
-=0dAZ 81,969
-89 E 27,323
- A HEE 23,680
204 =@ 432 Y| 332,400 329, 160 3,240
02 &= &2 xH| 332,400 329, 160 3,240
ogery 95,940
-23 (&) 650,000& x1H x12& 7,800
-3 (=) 500,000 »x3H x12& 18,000
42 400,000 »3H = 12& 14,400
-52 250,000 x4H x12& 12,000
-6=2 165,000& *10H = 12& 19,800
-73 155,000& *11H 122 20,460
-8~92 145,000& x2H x12& 3,480
o9 NE2 236,460
i R DN ey 400,000& x6H =12 28,800
- 32a X2 250,000& x16H x12& 48,000
— AL RS AHBESEZ 04
165,000 x78H x12& 154,440
—AHAJRAH XIS AHBSE 0|5t)
145,000& *3H x12& 5,220
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Az PP SN RASAADE
Hu: BAHYARY 2Y
oo onE 2y CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
-H I 249 5,100
—HJIS2He 249 4,500
- 2HIISNe 24 8,000
Al OFAM 2He| 19,500 65,900 AN46,400
201 LBt | 19,500 18,300 1,200
01 AP 22| d| 14,500 14,500 0
ONPa XHASASH 10,000
OHFI|otM &I CH 4,500
02 222494l 5,000 3,800 1,200
Oy U SEALAFY| 5,000
BAHASE 1,364,463 1,003,683 360,780
= 222,333
= 4,800
J| 215,716
=} 921,614
CIER20X & &S L 2ZHAIAIY 32,400 18,000 14,400
= 16,200
= 16,200
207 30 & 32,400 18,000 14,400
= 16,200
= 16,200
03 A& o 32| 32,400 18,000 14,400
O&XSAILY L dAME 2 32,400
= 16,200
& 16,200
KNEHEXRC olTZg RE(29H NH) 211,090 161,090 50,000
Dl 84,436
= 126,654
201 gBt24Ay| 72,500 35,000 37,500
Dl 29,000
o 43,500
02 24| 72,500 35,000 37,500
OMEotMalslal (BL3) MOZS & 29| 72,500
J| 29,000
= 43,500
202 o4l 5,000 0 5,000
J| 2,000
& 3,000
01 2Ll 5,000 0 5,000
OXNgHERNCGOITZ IS SHOWH| 5,000
Dl 2,000
= 3,000
207 I & d| 133,590 126,090 7,500
J| 53,436
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A BHSHAARR 2N BAHEHARZ
Hu: BAHYARY 2Y
ool BASE CER-ED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
= 80,154
03 AIE A 32| 133,590 126,090 7,500
O&XCAISE L AIETHZHI 133,590
Jl 53,436
o= 80,154
NEHEXS ol (XA S XH) 110,000 117,500 AT7,500
J| 44,000
= 66,000
405 KHoHFE S HI 110,000 117,500 AT7,500
bl 44,000
& 66,000
01 JHMY 2= EF S HI 110,000 117,500 ANT7,500
OXssHA=ZE A 53,000
J| 21,200
& 31,800
O&AMSDAH 30,000
J| 12,000
= 18,000
OA HESD 22,000
J| 8,800
& 13,200
Onlgaaazel Dl 5,000
J| 2,000
= 3,000
20l - AZMHEZGEHIAY 2 36,000 36,000 0
J| 18,000
= 18,000
207 I | 36,000 36,000 0
J| 18,000
= 18,000
03 A& o 32H| 36,000 36,000 0
O&XSAIY Y X7 36,000
J| 18,000
= 18,000
C2H0IANS ABA 2AY 2% 28,626 28,626 0
Dl 8,588
o=t 20,038
207 A OH 4| 28,626 28,626 0
J| 8,588
o 20,038
03 A& A 32H| 28,626 28,626 0
OXCHAIS L HAME 2L 28,626
J| 8,588
= 20,038
L2280l A 2AF XAI& 12,825 12,875 A B0
= 5,130
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AsAe R SN RASAADE
ASHARR 29
AS SEEED
- _ _ RE]
DA - BB - HY(3H) - HEAY - B %Eﬁ
= 7,695
207 A3 & 12,825 12,875 B0
= 5,130
= 7,695
03 A& 32| 12,825 12,875 A B0
O&EAI & HAHNE 2L 12,825
= 5,130
& 7,695
MESER HAF XS 63, 158 63, 158 0
= 25,263
& 37,895
202 044 5,000 5,000 0
2 2,000
& 3,000
01 2L Y| 5,000 5,000 0
OMESEsE FH22 0| 5,000
= 2,000
o=t 3,000
207 SO0 58,158 58,158 0
= 23,263
= 34,895
03 A& A3 H| 58,158 58,158 0
O&CtAlF L HAME 7 58,158
= 23,263
=} 34,895
HOIZYAHHAH ARG AME X 20,470 20,470 0
J| 10,235
& 10,235
202 04d| 2,000 2,000 0]
J| 1,000
& 1,000
01 2Ll 2,000 2,000 0
OOl =&tAF RI|IEXAA2ZE SH WY 2,000
J| 1,000
= 1,000
207 A OH 4| 18,470 18,470 0
J| 9,235
o= 9,235
03 A& A 32H| 18,470 18,470 0
OOl =&tAF RIS X AAF RICEAI & =X
Q! 18,470
J| 9,235
& 9,235
202 oA 42,694 41,014 1,680
J| 21,347
o= 21,347
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A2 BAHIATRE SN BABATE
Ha: SABYAIY 2
ol HAZX CER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
207 & O] 42,694 41,014 1,680
J| 21,347
< 21,347
03 Al & 11 HI 42,694 41,014 1,680
OFCAIS W X7 42,694
J| 21,347
< 21,347
SHSEJHI0IHAAEA 2AMY 2 31,220 31,220 0
J| 15,610
< 15,610
207 A RO 31,220 31,220 0
J| 15,610
< 15,610
03 A& &2l 31,220 31,220 0
O&EAl & HAME ¢ 31,220
J| 15,610
< 15,610
sz Z A 270,000 212,000 58,000
201 Let24d] 60,000 50,000 10,000
02 =24l 60,000 50,000 10,000
OAE &l Xl 60,000
207 Ol 210,000 162,000 48,000
03 Al & 11 HI 210,000 162,000 48,000
O0IME ZALAI < 60,000
OalotE T AAIS 110,000
Os=4tE A 40,000
2oz ZAMEH 2L 100,000 185,000 A 85,000
405 XHoHE S HI 100,000 185,000 A 85,000
01 AL EZFH S 100,000 185,000 A 85,000
ootola=z4dolE 50,000
Ox=2&4 Dl 50,000
AOJFZOHMZA 2 S 4,800 5,850 A 1,050
s 4,800
206 M= Hl 4,800 5,850 A 1,050
s 4,800
01 2l 4,800 5,850 A 1,050
OofotZ 2t 2 Al 4,800
s 4,800
AEA JAs™E 23 266,000 0 266,000
= 133,000
< 133,000
405 RHoHE S HI 266,000 0 266,000
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CEEE LR SH EABAARR
HAHEHARA 22H
=Asd (29l & 2)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES %Eﬁ HR=2
= 133,000
& 133,000
01 XAt 2 E F S| 266,000 0 266,000
OKRETZESECXR0 2HSAD| 266,000
= 133,000
= 133,000
A22I|sAE 22 23,880 23,880 0
= 11,940
=} 11,940
206 M = dl 23,880 23,880 0
= 11,940
=} 11,940
01 X2 4| 23,880 23,880 0
OAHLINsAE A 23,880
= 11,940
& 11,940
SSHoE 22 61,600 0 61,600
2 30,800
= 30,800
206 M = Hl 61,600 0 61,600
2 30,800
= 30,800
01 X Z H| 61,600 0 61,600
ORE =42 HA 61,600
= 30,800
= 30,800
MBHHUHS AEA HERIA 29 27,000 27,000 0
J| 13,500
& 13,500
202 044 1,000 1,000 0
J| 500
& 500
01 2Ll 1,000 1,000 0
OMZHCA HIaA SE2ZA 28 SEHUYI 1,000
J| 500
== 500
207 O 4| 26,000 26,000 0
Jl 13,000
o= 13,000
03 A& 32H| 26,000 26,000 0
O&SAIF L AIEME 2L 26,000
J| 13,000
= 13,000
HHE RS sdsES o822 AIY 22,700 0 22,700
201 LBt Y| 22,700 0 22,700
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A2 BAHIATRE SN RASAADE
M BAHANIY 2Y
oo leYEFYSYy (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 150,000
< 150,000
405 XHoHF S HI 300,000 150,000 150,000
= 150,000
< 150,000
01 AL EZFH S 300,000 150,000 150,000
OJILEEFAL 2IFEH P 300,000
-WILE=EY = EF 2 uAH 300,000
= 150,000
< 150,000
OLAIS X 3XHE F=H 2t 745,000 0 745,000
= 372,500
< 372,500
405 XHoHF S HI 745,000 0 745,000
= 372,500
< 372,500
01 AL ESFH S 745,000 0 745,000
O0ls=E3XE 573,000
= 286,500
< 286,500
ORosgaII(EE) 172,000
= 86,000
< 86,000
g3z 586,700 826,700 240,000
= 90,000
< 496,700
SFFHEE HA 296,700 296,700 0
201 L4l 55,000 55,000 0
02 324l 55,000 55,000 0
OA&&EHl Sl 55,000
202 Odl 6,700 6,700 0
01 = LH 4 Hi 6,700 6,700 0
OHIISZ A NEXHH =Z 0 HI 2,700
OYH==ZA AIZXHH ESZ 0 4,000
207 & 00 &l 235,000 235,000 0
03 Al & 11HI 235,000 235,000 0
OsZE2g AN 72¢ 235,000
sZ2cZA EZFEH 2 110,000 350,000 A 240,000
405 TtobH S| 110,000 350,000 A 240,000
01 AL EZFH S 110,000 350,000 A 240,000
OAEdEEAI 110,000
SEZ20F AIES A FHE Hgd It A Y 180,000 180,000 0
= 90,000
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A2 BAHIATRE SN BABEAR
Hu: BB 2Y
S RAERAI=XE (&2 &)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
01 AFR2 22l Yl 6,480 6,880 AN 400
Oget=gH| 5,000
- RJAY ol 5,000
o2g=¢ 1,480
—AHARA= A A} 1,080
— AL 2 H A A} 400
202 04| 4,000 4,000 0
01 2LHOHI 4,000 4,000 0
OXMATZANY HEXNEE 4,000
207 A O 4| 18,800 17,000 1,800
03 A& FH| 18,800 17,000 1,800
OXAMNATPAG 2 AFAI S 16,000
OHIANY 258 #¢ 2,800
303 ZAZ 1,200 1,200 0
01 ZAZ 1,200 1,200 0
OXZAAZAIY Al&I2 1,200
BH2YAH (BABZARD) 5,498,657 5,541,650 £ 42,993
= 24 577
= 20,080
Il 54,682
< 5,399,318
ol 2| 5,297,647 5,339,920 N42,273
= 24 577
= 20,080
Dl 54,682
T 5,198,308
ol 2 A 5,034,911 5,095,137 A 60,226
101 2124 1| 4,870,991 4,956,717 N85,726
01 B 4,542,591 4,629,297 N 86,706
OPIE=S=: 3,359,988
—2EX (A=) 76,673
- 52 6,389,4103 x 15 x12& 76,673
-2 (HEH) 1,093,526
oz 7,009,780& x13H x12& 1,093,526
- B (S EH) 354,855
63 3,109,550& x2H x12& 74,630
72 2,706,8723 x8H x12& 259,860
- 92 1,697,020& x 15 »12& 20,365
-3 (s=2H) 1,834,934
A AL 3,324,155 x46H x12& 1,834,934
OFSFeg=s 153,919
OFHx 232,181
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a3 PABHATE SN BABZATE
By sESHAL (PABZAR)
chel: ol gy
A2 .2 B S(BH) - HRAY - BES il
- Rt a= ) = 47,760
25 0] & 130,000& 16 128 24,960
20 0] & 110,000 x6H 123 7,920
158 0l &f 80,000& x5H 128 4,800
104 0] & 60,0003 x9H x12& 6,480
54 0] &t 50,0003 x6H 128 3,600
-esRIFE 47,109
2 BHE 3,658,720& x4 . 1%+6H 128 10,801
oA 3,514,040& *4 1%x21H 128 36,308
-IE=g 43,680
- B Xt 40,0003 39 «128 18,720
B PNYE 20,0003 x19Y x12& 4,560
P D IE 60,0003 x13H 128 9,360
- AWOol= XA 100,000& x8H x12& 9,600
- JIEFIEE 20,0003 x6H 128 1,440
R E ==, 3,752
sstu 469,000& x2H *43] 3,752
-fEgz2e+d 33,600
=3 50,0003 x56H x128 33,600
- esE 53,760
A 80,0003 x56H x12& 53,760
-Jlsd2+¢ 1,440
6~72 30,0003 x4 128 1,440
-JIsdE2g (01 2) 480
2d,841(6~73) 10,0002 x2H 123 240
28 ,34(8~92) 20,0003 x 18 «128 240
-QYgesE 50,000& x1H 128 600
Oozuz=ex¢ 366,456
OF UG AHI 130,000& 70 »12& 109,200
OZEFOHI 2,286,000,000& /128 «60%*23] 228,600
O A2 4| 92,247
-HEM
1,194,756,000& /128 x78%*86%+*1/30% 12 26,715
-S=H
2,286,000,000& /122 «86%*1/30* 122 65,532
02 JIEt & 2+ 122,806
OB IIM (& H oA 122,806
-J2= 9,100,000 x1H x12& 109,200
-JtEE 960
bH < Xt 40,0003 x 18 +128 480
JIEFILE 20,0003 x2H 128 480
—Z A S A 130,000& 1H 128 1,560
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43 BHBAN DR 21 & 2
By sESHAL (PABZAR)
chel: ol gy
AR 2A - ZH-SH(EH) - HRAY - BES il
- HJtE A
120,120,000 /122 »78%*86%*1/30% 122 2,686
-z Xl 500,000 x1H «12& 6,000
- HEEAEE 200,000 x1H «12& 2,400
03 RIAHAZZ2 T+ 205,594 205,852
ORJAMAE X (HF XA 1) 51,155
-Jles 2,989,650& 123 35,876
- .. 5E22Y
16,3573 x150%*15A1 2t <12 4,417
PN E = 16,3573 *8Al 2t+15¢ 1,963
- ZF0tdl 2,989, 650% *60%*22] 3,588
- = gl 130,000 «12& 1,560
-IE=¢ 40,000& x12& 480
-HERES 47,492,000& +6.887% 3,271
OFRH[AMALE X (HF XA ) 31,452
-Jles 1,780,340 128 21,365
- ot 522+
9,992& *150%*15A1 2t x12& 2,698
P = 9,992@ x8A| 2t+152 1,200
- g &=t 1,780, 3403 *60%*22 2,137
- =&l 130,000& =123 1,560
-JEg 40,0003 «x12& 480
-HERES 29,200,000 *6.887% 2,012
OZANEREX(AE Y=8) 62,900
-JlE= 1,780,340 «12& »x2H 42,729
- 0. FYE2Z2E
9,992& x150%* 15AI 2+ 123 «2H 5,396
i PN R 9,992 *BAl 2t x 152 x2H 2,399
- g Z St 1,780,340 »60%*23| x2H 4,273
- =&l 130,000 =128 x2H 3,120
-JIEg 40,0003 x12& «2H 960
-HIARYS 29,200,000% *6.887%*2H 4,023
Ot (HA) 60,087
-JlE= 1,693, 1102 «12& »2H 40,635
- 0. FYE22E
9,533& «150%* 15AI 2+ 128 »2H 5,148
S PNESS = 76,2643 x 152 «2H 2,288
- g Z St 1,693, 110& x60%*23] x2H 4,064
= gl 130,000 »12& »2H 3,120
-JIEg 40,0003 128 »2&H 960
-HARES 56,213,844% «6.887% 3,872
IR 163,920 138,420
02 22 =4 163,920 138,420
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